Weekly Homework




Name ____________________________________

Monday, May 6
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1.                                                               2.    2.


3.                                                         4.  

Create two equivalent fractions for each.  3/3 = _________  3/4 = _________ 3/5 = _________ 3/8 = ___________

Tuesday, May 7
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3.                                                                                                 4.
Weekly Homework
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Thursday, May 9
1.

3.




_______________       _________________                   _____________       ______________
Circle all the fractions equal to 2/5
2/10
4/10
6/15
8/20
 10/15
    10/25         20/50
25/50
Use two different strategies to show how you can find the quotient for 456 divided by12.


       Strategy 1			Strategy 2














Write as a decimal.





81/100 _______    		81/10 _______





13/100 _______		13/10 _____





Write in standard form.


(5x100) + (4x10) + (8x() + (9x() = __________





(6x10,000) + (3x100) + (7x() ______________





Draw and label the dimensions of a rectangle whose perimeter equals 20 cm. 




















What is the area of your rectangle? _______














12( + 6( = ______         12( - 6( = ______        








A red jacket costs 3 times less than the blue jacket.  The red jacket costs $48.  How much is the blue jacket?























Why would the blue jacket cost so much more?


























Which expression has the same product as 150 x 75?


15 x 750


15 x 75


150 x 750


1500 x 75





360 ÷ 40 = 3600 ÷ ___                540 x 10 = ______x 100

















What do you notice?








A box of 16 birthday cards weighs 12.8  ounces.  Ten boxes of cards can be packed in a carton for shipping to a card store.  How many pounds does one carton weigh?



































Add: 42.7 and 29.84		Subtract: 42.7 and 29.84








4500 ÷ 10 = _________	        


450 ÷ 10 = _________	        


45 ÷ 10 = ________


What pattern do you notice?








Draw a model of: 7/4.




















7/4 can also be named as ____________.




















Complete the table.             Complete the table.


1 hour = _____ min.            _____ounces = 1 pound





hr.�
Min.�
�
4�
�
�
2(�
�
�
1(�
�
�
6�
�
�






Circle the numbers divisible by 2.


42     57     133     153     192     210     213     2604      8208





Circle the numbers divisible by 3.


42     57     133     153     192     210     213     2604      8208





Circle the numbers divisible by 6. 


42     57     133     153     192     210     213     2604      8208





What do you notice?





oz.�
lb.�
�
�
4�
�
�
2(�
�
�
1(�
�
�
6�
�






2.  A rectangle has a perimeter of 72 centimeters and a length of 21 centimeters.  What is the width of the rectangle?  Draw and label the rectangle including all of the above dimensions.  


























What is the area of the rectangle?  ____________


























Jacie has a 4 liter punch bowl.  She pours 850ml of pineapple juice, 900ml of orange juice, and 250ml of ginger ale into the bowl. 





What is the capacity of the punch bowl in milliliters?








How much liquid, in liters, did Jacie pour into the punch bowl?





She wants to add 1.5L of sherbet to the punch.  Does she have enough room to add all of the sherbet at one time?  ___________ Why or why not?











The vertex of an angle can be at the center of a circle.  A degree is the angle made by 1/360 of a full turn around a circle.  A full turn around a circle is 360°.  The measure of an angle is the fraction of the circle between the points where the two rays intersect the circle.   What is the measure of each example below?  (use fraction and °)





                                                                 





4.  Which is the BEST estimate of 19 x (?





a. 5	      b.  6           c. 10                d.  20


-----------------------------------------------------------------------------





Which is/are true about the number 51?





a. odd, prime and a multiple of 3.	


b. odd, composite and a multiple of 3	


c. odd, prime, factor of 51.		


d. odd, composite and a factor of 51.
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